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5 SUMMATIVE ASSESSMENT - 1, 2016-17
MATHEMATICS

Class - X

Time Allowed: 3 hours Maximum Marks: 90

General Instructions:

1 All questions are compulsory.
2 The queslion paper consists of 31 questions divided inte four sections A, B, C

and 1. Seetion-A comprises of 4 questions of 1 mark cach; Section-B comprises
of & questions of 2 marks each; Section-C comprises of 10 questions of 3 marks
each and Section-1) comprises of 11 questions of 4 marks each.

3 There is no overall choice in this question paper.

4. Use of calculator is nol permitted.

SECTION-A
{Juestion numbers 1 to 4 carry one mark cach
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if in APQR, XY |QR, PX=x-2 XQ=3x, 'Y =x+2and YR =%, then find the valucofx. 1
‘Jﬂ"' Fvaluate : i
tan 15" 4 sin25°
cot 7 s Ry
¥ Find the value of sinf@ + -.I_z 1
T+lan™0
',/ If mode =10.6 and median = 11.5, then find mean, using an empirical relation. 1
SECTION-B
Question numbers 5 (o 10 carry bwo marks cach. |
\/?/ Ixplain why 1 X2 X 3AX A XSXAXT+5 is a composite number ?
Lﬁ/’ IYetermine whether the Tﬁu{-.- has a terminating decimal cxpansion or non-terminating
EHEL
repeating decimal expansion,
L?/ Given the linear equation I -4y=7=[, writy another linear equation in these two 2
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variables such that the geometrical representation of the pair so formed is
(1) intersecting lines {ii) parallel lines

In AABC, if Al L BU and ACT=BC" = AB, then prove that PA*=PBExCP

Simplify :
Lt tn® A
1% eols A
Following distribution gives cumulative frequencics of ‘more than type’: 2
| Marks obtained More ' Mare i More More !
than or | than or i than orlhan or
equal to equal to |equal lo ' equal to |
5 10 15 20 i
Number of students 3 3 L) 2 .
[cumulative
fru.quurlt}r] | . ! .
Change the above data to a continuous grouped frequency distribution
SECTION-C
Ouestion numbers 11 to 20 carry three marks cach.
Show thalt the square of any positive integer is cither of the form 3 m or 3
. 3m+1 tor sume integer m. '
On dividing ¥ 1‘ 31-1 +3x+ 2 by a polynomial glx}, the guotient and the remainder were 3
A ? =& =2 and 2xrespectively. Find g(x).
f a and B arc the wvcros of the polynomial f (a}j=2f—5x+k such that 3
a— B =1, find the value of k.
Solve forx and w 3
2. o : L
-1 y-2
sl iy
=1 F- g
3

If ABC is an obluse angled triangle, obtuse angled at B. If ADD = CB (produced) such that

A1) meets CB(produced) at 13, prove that ACE = CB? + AB® +2BC x BD
Prove thal area of the equilateral iriangle described on the side of a square is half of the 3

area of Lhe equilateral trizngle described on its diagonal,

Evaluate s 0 V3% vos ?:':-" ipes 35" sin 55° —1:..4::51'-;.' '1.".:&!'.5 47 i
lan 15° tan 257 1an 60° tan 75°% lan 60 '
sinB. tan® + cos?f, cotB + 2 sinb. cos® = tanB + coth | 1
Monthly household expenditures of families in a society are given in the following tabley 3
Monlthly expenditures  2000- 00-  4000- S000- | 6000-
(in %) 3000 000 5000 B00 7000
No. of familics i 7 12 14 4
Find the mean monthly expenditure .
Fhe following data gives information on the observed life time (in howrs) of 250 clectrical 3

commpanenty ¢



24

life time (ln0-20 20-40 40-60 A %Gy
- hours) ] ; . ."JE;.“‘
. No. of companents : 30 : 36 ; 32 :

Lifc time (In 60-80 AD-100 ' 100-120

hours) ' '

No. of components f1 38 33

Determine the modgl life time of the component.

SECTION-D
Question numbers 21 to 31 carry four marks cach.

Wrile the HICE and LOM of the smallest ndd composite number and the smallest odd prime 4
number. If an odd no, p divides g° then will it divide g* also ? Explain.
Obtain all other zeroes of the polynomial x? + 327 — 322 = 150 - 10, if two of its zeroes are J5 4
and — 3.

4

Draw the graph of the following pair of linear cquations :

x+3y=6and 2y - Iy=12

Find the ratin of the areas of the twb triangles formed by first line, x =0, y =0 and second
line x=0, y=0 '

'he incomes of two persons A and B are in the ratio 8 : 7 and the ratio of their expenditures 4
is 19 : 16. If their savings are T 2550 per month, find their monthly incomes.
What is the importance of saving in life ?

If Al2, BE and CF are medians of the AABC, then prove that

I(ABE+BCT+ CAY =4 (A2 + BEZ4 CFY),

In AABC, from A and B altitudes AD and BL are drawn. Prove that AADU - ABEC. s 4

AAIDDB» AAEB and AADB=AALDC ?
Calculate the irigonometric ratios of 60° with the help of an equilateral triangle.

if tanA <+ sinA = m and tanA = sinA = n, then prove that
{m?- n?)2= 16 mn
Prove that : 4
sind s 1 mcosA |'.-| - s
—_———— = BT g — .= ] CosSech
Teoosd  ©ompond VD =oosd 51 feonsA
I'he following arc the ages of 200 patients gelling medical treatment in a hospital on 2 4
particular day ; i
- Ape (in years) C10-20 - 20-30  30-80 - 40-50 S50-60 6070 |
N . \

e o w 'z W s o2 W '
Paticnts .
Write the above distribution as less than type cumulative frequency distribution and alse
draw an ogive to find the median. |
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Ages of 120 patients admitted in a hospital are given in the following distribution. If mean
of the distribution is 26, find the missing frequencies x and .

A il fieant
ke ub pahenty. fin oo B-16  16-24 24-37 3240 40-4R
YA
sumber of palienis 20 - X h i Y 2[] [
I
bl bl




